
SAP ABAP table ROIJ_3WP_IO {Structure for parameter of 3WP selection}

ROIJ_3WP_IO

G_MATNR [CHAR (18)]

G_TSYST [CHAR (10)]

D_LOCID [CHAR (10)]

D_CUST [CHAR (10)]

D_SHIP [CHAR (10)]

D_TSYST [CHAR (10)]

S_LOCID [CHAR (10)]

S_VEND [CHAR (10)]

S_SHIP [CHAR (10)]

S_TSYST [CHAR (10)]

T_LOCID [CHAR (10)]

T_TSYST [CHAR (10)]

T_NMVEH [CHAR (10)]

T_CARR [CHAR (10)]

T_SHIP [CHAR (10)]

DS_LOCID [CHAR (10)]

DS_NMVEH [CHAR (10)]

DS_CARR [CHAR (10)]

DS_SHIP [CHAR (10)]

DS_VEND [CHAR (10)]

DS_CUST [CHAR (10)]

DS_NOMTK [CHAR (20)]

DS_NOMTYP [CHAR (4)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ROIJ_3WP_IO-DS_CUST = KNA1-KUNNR 

0..N

0..N

 ROIJ_3WP_IO-D_CUST = KNA1-KUNNR 
0..N

0..N LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 ROIJ_3WP_IO-DS_CARR = LFA1-LIFNR 

0..N
0..N

 ROIJ_3WP_IO-DS_SHIP = LFA1-LIFNR 

0..N
0..N

 ROIJ_3WP_IO-DS_VEND = LFA1-LIFNR 

0..N
0..N  ROIJ_3WP_IO-D_SHIP = LFA1-LIFNR 

0..N

0..N

 ROIJ_3WP_IO-S_SHIP = LFA1-LIFNR 0..N

0..N

 ROIJ_3WP_IO-S_VEND = LFA1-LIFNR 
0..N

0..N
 ROIJ_3WP_IO-T_CARR = LFA1-LIFNR 

0..N

0..N
 ROIJ_3WP_IO-T_SHIP = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 ROIJ_3WP_IO-G_MATNR = MARA-MATNR 
0..N

0..N

OIGV

CLIENT [CLNT (3)]

VEHICLE [CHAR (10)]

 ROIJ_3WP_IO-DS_NMVEH = OIGV-VEHICLE 

0..N

0..N

 ROIJ_3WP_IO-T_NMVEH = OIGV-VEHICLE 

0..N
0..N

OIJLOC

MANDT [CLNT (3)]

LOCID [CHAR (10)]

 ROIJ_3WP_IO-DS_LOCID = OIJLOC-LOCID 

0..N

0..N

 ROIJ_3WP_IO-D_LOCID = OIJLOC-LOCID 

0..N

0..N

 ROIJ_3WP_IO-S_LOCID = OIJLOC-LOCID 
0..N

0..N

 ROIJ_3WP_IO-T_LOCID = OIJLOC-LOCID 0..N0..N

OIJNOMH

MANDT [CLNT (3)]

NOMTK [CHAR (20)]

 ROIJ_3WP_IO-DS_NOMTK = OIJNOMH-NOMTK 

0..N

0..N

OIJTS

MANDT [CLNT (3)]

TSYST [CHAR (10)]

 ROIJ_3WP_IO-D_TSYST = OIJTS-TSYST 

0..N

0..N

 ROIJ_3WP_IO-G_TSYST = OIJTS-TSYST 

0..N

0..N

 ROIJ_3WP_IO-S_TSYST = OIJTS-TSYST 
0..N

0..N

 ROIJ_3WP_IO-T_TSYST = OIJTS-TSYST 0..N

0..N

TOIJNOMTYP

MANDT [CLNT (3)]

NOMTYP [CHAR (4)]

 ROIJ_3WP_IO-DS_NOMTYP = TOIJNOMTYP-NOMTYP 

0..N

0..N


